WA a"T'om 2, n"a "2

You may have said that 2129 is superior  — 137¥ 2129 K% 0T IR

OVERVIEW

The &7 m3 explained that when the miwn states that if one was 2137 and one
was »mn the rule is Y171 that is (only) if the 2197 was a 1°9372 »n1a. The
novelty is (not that the 2137 receives half, but rather) that even though the
2°07 1s 7Y (since he is 772 090 217n), nevertheless the 3771 also shares in
the animal. N1®0N clarifies what rule we derive from this 71wn.

— 1NN NPIN NN VAN §P1Y INPIN VI
The explanation of the X%°n7 177 that 7°7¥ 2107 is that the 7p3n of the 2107 1s
superior to that of the »71n and therefore the 21277 NP1 should nullify the

AT NP, This is what we could have assumed, therefore the mawn -
—YPI9N DIPININ DNNIVT )Y ¥YIYN NP

teaches us that they (both 7121 2127) are both equal aspymn and they
divide the animal.

mooIN rejects an alternate interpretation of this X n7 17A:
— 29131971 1239 NN DV G27Y 21997 N1IINT 1NN WY PN YaN

However one cannot explain (the ¥»°n7 % to mean) that one may have
thought that the 117 of 2121 is superior to the "1 of > and therefore the

73p of 2107 should nullify the %12 of the »:71%, and so therefore the mawn -
— 1P ONNIYT Y YYD NP
teaches us that they (the 2771121 2127) are both 12325 we cannot interpret the X773

this way -
— DTN 59D 2199 DYPNA %3P 31 RY 1PART "985 NIWIIaTH

As I explained previously that even if 27712 would not be 2129 2yp%3 729,
the »>71n would nevertheless be considered a P -

— %53 NYTINY 9137 1%
Since 77> 3w (where there is no 2107 at all) is .

nooIn asks:
—N¥291 2194 2P AW ROVYN 799 3 HIYY 99NN ON)

Dot

2 Therefore the "»p could not have meant that 237 is not 37”7 773p Yvan, for even if the 1371 would be
Svan the (2127 Dpna) »mana 1Ip, nevertheless the 3 would still be 71p on account of his MpIAM. The
7awn cannot teach us that the 3°7n is 2197 2pna 7P, for we will maintain 17177 even if the 27732 is not NP
2107 opna. The 73wn does teach us that the (199372 27327) 2197 21pna 732 does not lose his NPT,

1

TosfosInEnglish.com



WA a"T'om 2, n"a "2

And if you will say; previously when the X713 asked, ‘now that 2w is

71%p, is it necessary  to teach that 2199 is anp!” This concludes the X3 Mmoo

continues with his question:
— *no5mnm NYINY N3 DI9NT 2194 NPIN YOI NYT )Y YIYN RPT NIV

Let the X 1) answer that the 71wn teaches us that the 21297 npr (which is
a strong 7P since) he is seizing it and it is moving because of him, this

strong 2127 NP1 should nullify -
- MmN npin AN

the 373177 NP3 and the »mn would not be ®anp. Therefore the w1 Tn of the 7wy is not
concerning the 2137 (that he is 7112), but rather that the »n1» is 71, and the 71wn can
follow the view of n"1 (and not the ]J:W).7

Mo0IN answers:
— 159393 1N31 K92 DYMINY 21997 XVIYWST “Nynwny 1098 PNRT 97 U

And one can say; that it is not necessary for the 71w» to teach us that the
2107 is not Pvan that 2737 np1n, for it is obvious to the X3 that 2121 alone
(meaning) without being 19373 xvman -
— 1NN HPIN NN YVaY YN XY
is not sufficient to nullify the 27277 P, Mooin explains:
— 21999 290 NPHNNN NHIN ) 12NN N ©ONT DIVN INT
For if the superiority of 2127 is because he is holding on to it (that is not
sufficient cause to be Yvan the »7an7 npm), for on the other hand 3% also
has superiority over 2127 that the animal moves more on account of 71
than it moves on account of 2199. Therefore since each has an advantage over the
other; it is obvious that neither can nullify the 11p of the other. The above is true if the

mawn would be according to n"9 and 2107 means that he is not 1°9372 27 -
— 199393 X213 99197 XOWN DaN

3 The X3 assumed that the 73w» of 37731 '8 2011 'R cannot be according to n", for since »"1 maintains that
2wy is 1P (from the 7awn in 2°X93), so 2137 is certainly 11p; the mwn would seemingly not be teaching us
any novelty in that the 2127 is 711p.

* According to 1" by 771> 2191 (and even by 2w) it is X91% somewhat 7°nann. See 577y 2197 7N,

> We can derive from this that the question of the X3 from the 73w of 12211 ©°3w 177 was actually from the
X520 of A°7711 'R1 22171 'R 777w I as MOOIN states here.

® Mmoo asks that the same w17°n that we use for the 7127 in a case where he is 12312 »7Im1 2107 (that it is not
Svan the »mmn npim), that very same w17°n can be used for 1" by a 7°7% 2137 that it is not Pvan the npn
»raan (for [seemingly] a 7°70% 2131 according to 1" is similar to a 1°2372 3731 2137 according to the 1127).

7 The advantage of this interpretation (that the 73wn follows only the view of n") is that we can then
assume that according to the 7127 in a case of 71 'X1 2017 'X the 2127 will not be 7P, which is in
accordance with the opinion of 7717 2.

¥ We cannot say (as moown wanted in his question) that the mawn follows »" and is teaching a wy7n
concerning the 3771 (that he too is a P1mn); for no one would have thought otherwise.
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However now that the mwn is discussing a 2107 which is a3 s,

therefore there is a proper X2°n7 177 that 2157 should be Pvan the g npim -
— 2NN NPIN NN HVI N2 VIONT TIY) 21992 W XN WY NN HIT 11909

For since whatever »>71% possesses 2191 possesses as well, and in addition
2137 is also 712 ©%5n, therefore it is understood why we may have assumed

that the 2107 should be w2 the 373257 npPIn, therefore the m1wn -
— 19 YYN NP

Teaches us that even a 75372 277391 2197 cannot be %van the »n37 NP1

Moo concludes:
$99N1 5295 1Y 599 19395 NONN 199392 1913102 KNYWN NIIPINT INND 599

And according to the way we have now established the 71wn that the 2107
is also 199372 »vmn, therefore the 7awn can be according to the 3339 and
certainly according to »''".

SUMMARY
The wi7°n of the mawn is that a 17372 27121 2197 cannot be Hvan the npIn
Aaann.

THINKING IT OVER

Why does the mawn teach us the 17 of 122171 21w 1°7; since it already teaches
us the 77 of 7737 'R1 2017 'X that neither is ?van the other, so it is understood
that by 12917 021w they are certainly both 711!

? n"1 maintains that a regular 2127 (who is not a 12372 »7n) is 7P, so therefore one might (surely) think
that a 123172 21321 2107 should certainly be superior to 37731 alone. [This X" is more reasonable according
to n"1 (who maintains 1 7°71% 2127) than according to the 1127 (who maintain that °3p X? 7°711% 2137).] The
w7n of the mawn is that even according to »'" a 12372 2°773M1 2137 is not V2 the »mann NP,

19 See x"wan (here) and (X171 2191 71" 7102) ™w 2" .
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